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B Proposition 2

Abo Gptipdy Soldvtov ph mpoTtov TPog dAAAAoLS To find the greatest common measure of two given
0 uéytatov abtiv xowov pétpov edpEv. numbers (which are) not prime to one another.

A7 A7

(SR Et 1C
1Z TF

H G
BL 1A B D

"Eotwooy of do3évteg 8bo &ptdpol pi) npéitor mpog Let AB and C'1) be the two given numbers (which
ddnhovg of AB, T'A. et &% v AB, T'A 10 péytotov  are) not prime to one another. So it is required to find
ooy (étpov ebpsiv. the greatest common measure of 48 and C'1).

Ei p2v odv & TA 1ov AB petpel, petpsl 88 ol In fact, if CD measures AB, C'D is thus a common
goutdy, & T'A Hpo ttiv I'A, AB xowov pérpov éotlv. measure of C'D and AB, (since C'D) also measures itself.
nod pavepdy, 6T nal uéviotov obdsic ykp ueilwv tob  And (it is) manifest that (it is) also the greatest (com-
A zov TA petpnost. mon measure). For nothing greater than CD can mea-

Ei 82 ob petpst & TA ov AB, <éiv AB, TA sure CD.
dvSuporpovpdvon del 1ob Ehdocovog dmd Tob peilovog But if ') does not measure AB then some number
Letpdfoetal Tt dptIpde, S¢ petphost Tov mEo éewtob. will remain from AB and CD), the lesser being contin-
novig pév yio ob Aswpdostar el 8¢ pf], foovtor of wually subtracted, in turn, from the greater, which will
AB, TA mp&tol mpog diifhove dmep oby Omdustta. measure the (number) preceding it. For a unit will not be
Leuprostat Tig Gpo dptdpog, O¢ petpnast Tov Teo exwtob.  left. But if not, AB and C'D will be prime to one another
wal O pev TA tov BE petpdy Astmétn gavtob ghdooova  [Prop. 7.1]. The very opposite thing was assumed. Thus,
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EEH M, N DERARNIEZKRDDHICE. REWESDOEHZ, NSWESOEHMTEI> TV, INZEHEWIIEDRL, INSWESDEHHAKEWNZES DEH
ZE DY >RSI, FRDTDO M, N DEANIKELR D, fEUm nEWofe T2 E16tERICEZ Shicizs. TRim TREHTRBELI%HA
WTEBHERLTWS, 7OV 5L BIZIECSEDEH) TEL & ged(m,n){return(n==0?m:gcd(nm%n))}D & 5 Ic7x %,

3: 17309 VKF o—&
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AR E, ThE—LETD

> cd openssl-1.0.0e/crypto/
> grep euclid bn/bn_gcd.c _ o O B = g
H * H * X =Aam ZJTE Z
st:fltlc BIGNUM *euclid(BIGNUM *a, BIGNUM 2 (EE). —0 =54 L<
b): ; -/ N | BATEEBE®RZZ) BEE &
t=euclid(a,b); BAICHRLUTROERY (ZFBN
static BIGNUM *euclid(BIGNUM *a, BIGNUM * ), 7AVSLATELCE

r = BN_gcd(m, i, j, ctx);
rsa/rsa_gen.c:

b) < — koch(x) {

> grep gcd rsa/*.c ; A if (x<10) forward(x);
) - L L —/ else {

rsa/rsa_chk.c: koch(x/3);

left(60); koch(x/3);
right(120); koch(x/3);
left(60); koch(x/3);

if (IBN_gcd(rl,r2,rsa->e,ctx)) goto err; - _ Loy
rsa/rsa_gen.c: NS A |
if (!BN_gcd(ril,r2,rsa->e,ctx)) goto err; 1212 U forward()i& TBICRE x
DA ERVTHED 1. left(60) 1%

}
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